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const int MAXN=1e5+5;
set<int>g [ MAXN];
struct Edge
int u,v;
edge MAXN | ;
int p/MAXN!,bMAXN];
bool vis|[MAXN];
int Find(int x x==p[x|?x:plx|/=Find(p(x]);
void Merge(int x,int y
int xx=Find(x),yy=Find(y);

xx!l=yy
PLXXI=YY;
int main

int n=read int(),m=read int(),q=read int(),limt=sqrt(m+ ;
_for(i,0,m
edgelil.u=read int(),edgeli|.v=read int();
gledgeli].u].insert(edgeli].v);
gledgel[i].v].insert(edge(i].u);
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int sz=read int(),ans=0;
_for(i,0,sz

blil=read int();

vis|b[i] |=true;

plb[i]]=b[1i];

sz<limt

_for(i,0,sz

_for(j,1i,sz

glbli]].count(blj
Merge(blil,bljl);

_for(i,0,m
vis/edge/i|.u/&&vis|/edgeli]l.v
Merge(edge(il.u,edgelil.v);

_for(i,0,sz
ans+=(Find(b[i])==b[i]);
vis/b[i] | =false;

enter(ans);
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const int MAXN=5e3+5;
int a/MAXN|,dp/MAXN| [MAXN];
int main

int n=read int();

_for(i,0,n)alil=read int();

sort(a,a+n);

_for(i,0,n) for(j,i+1l,n)dplil[jl=2;

int ans=2;

_for(i,0,n

int posl=i-1,pos2=i+1;
pos1>=0&&p0os2<n
alposl/+alpos2/<(alil<< poS2++;
alposl/+alpos2/>(alil<<l))posl--;

dplil[pos2|=max(dp/i]| pos2],dplposl|[i/+1);

ans=max(ans,dp/i]|[pos2]);
posl--;pos2++;

enter(ans);
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const int MAXN=1e5+5;
struct Edge

int to,next;
edge [ MAXN<<1];
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int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head/u]};
head|u!=edge cnt;
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namespace LCA
int d[MAXN],sz[MAXN|,f[MAXN|,dfn MAXN|,node id[MAXN|,dfs t;
int h son/MAXN|,mson[MAXN|,p MAXN]|;
void dfs 1(int u,int fa,int depth
dfnlul=++dfs t;sz/ul=1;flul=fa;d ul=depth;mson/ul=0;node id[dfs t|=u;
int i=head/ul;i;i=edgeli].next
int v=edge([i].to;
v==fa

;

dfs 1(v,u,depth+1);

szlul+=sz[v];
sz[v/>mson|u

h sonlul=v,mson|ul=sz|v];

void dfs 2(int u,int top
plul=top;
mson|ul)dfs 2(h son|ul,top);
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
v==f[ul||v==h_son|u

dfs 2(v,v);
void init(int root){dfs 1(root,0,0);dfs 2(root,root);
int query lca(int u,int v
pull=plv
diplull<dlplv!])swap(u,v);
u=flplull;

dlul<d[v]?u:v;

int query dis(int u,int v
u=node id/ul,v=node id(v];
diul+d[v]|-2*d[query lcalu,v)|;

typedef set<int>::iterator iter;
set<int>s[MAXN];
int c[MAXN];
LL ans|[MAXN];
void del(int c,int u
iter it=s|c].find(u);
int 1=0,r=0;
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++it!=s[c].end
r=*it;
--it!=s[c].begin
1=*(--it);
1&&r)ans | cl+=LCA: :query dis(1l,r);
l)ans[c]-=LCA::query dis(l,u);
ryans|[c]|-=LCA::query dis(u,r);
s[c]l.erase(u);

void add(int c,int u
s[cl.insert(u);
iter it=s/c].find(u);

int 1=0,r=0;
++it!=s(c].end

r=*it;
--it!=s[c].begin

1=*(--it);

1&&r)ans|(c|-=LCA: :query dis(1,r);
l)ans|[c|+=LCA::query dis(l,u);
ryans|[c|+=LCA::query dis(u,r);

int main

int n=read _int();

_for(i,1,n
int u=read int(),v=read int();
Insert(u,v);Insert(v,u);

LCA::init C

_rep(i,1,n
clil=read int();
add(c[i],LCA::dfn[i]);

int g=read_int();
q__
char opt=get char();
opt=="'Q"
int v=read int();
s|v].empty
enter(-1);

enter((ans|[v]|+LCA::query dis(*s[v].begin(), *(--
s(v].end /2);

int u=read int(),v=read int();
del(clu],LCA::dfn[ul);
add(v,LCA: :dfnlul);

clul=v;
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const int MAXN=1le5+5;
struct Seg
int len,v;
bool operator < (const Seg &b)const
v>b.v;

seg|MAXN ] ;
struct Query
int v,idx;
bool operator < (const Query &b)const

v>b.v;
que [MAXN | ;
LL ans|MAXN/;
int tim[MAXN],k[MAXN];
int main
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int n=read _int(),qg=read int();
_rep(i,1,n
char c=get char();
tim/i/=read int(),klil=read int();
c=="+"')k[i]=-k[i];

int st=0;

_for(i,1,n
seg/il.len=tim/i+1]|-tim[i];
segli].v=st+=k[1i];

st+=k/n];

st=max(0,st);

sort(seg+1,seg+n);

_for(i,0,q
quelil.v=read int();
queli].idx=i;

sort(que,que+q);
int pos=1,slen=0;

LL sum=0;
_for(i,0,q
queli].v<st

ans/queli|.idx|=-1;

’

i)sum+=1LL*(queli-1].v-queli].v)*slen;
pos<n&&que il .v<seg|pos]|.v
slen+=seg|/pos]|.len;
sum+=1LL* (seg/pos|.v-queli].v)*seg/pos].len;
pos++;

ans/queli|.idx|=sum;

_for(i,0,q
~ans | i
enter(ans|/i]);

puts ("INFINITY");
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